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application. If you have wrongly entered in the application or you do not possess the
required qualification as per our advertisement, your candidature will be rejected.

3. You should sign the Admit Card/Photograph only in the presence of the invigilator in the
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Enter your Name and Roll Number in the Question Booklet.

All entries in the OMR answer sheet should be with blue/black ball point pen only.

The written test will be of objective type based on the qualification prescribed for the post
with four answers indicated, of which only one will be unambiguously correct.

You have to select the right answer by marking the corresponding oval on the OMR answer
sheet by blue/black ball point pen as per the instructions given in the OMR answer sheet.

All questions carry four marks each, zero marks for no answer and one negative mark for
a wrong answer.

Multiple answers for a question will be regarded as a wrong answer.
Marking in OMR may be done with utmost care. No spare OMR sheet will be provided.

Computers, Calculators, mobile phones, reference books, logarithm table, electronic
gadgets etc. will not be allowed inside the Examination Hall.

Space available in the Question Booklet can be used for rough work.

On completion of the test, tear the OMR answer sheet along the perforation mark at
the top and hand over the original OMR answer sheet to the invigilator and retain the
duplicate copy with you.

Candidates are not permitted to leave the Examination Hall during the first one and a half
hour of the examination.

Candidates leaving the examination hall after 1150 hrs will be allowed to retain the
Question Booklet.

After the Examination, candidates should hand over OMR Answer Sheet and Admit Card to
the Invigilator.
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W9 IR ‘@ / CATERING ATTENDANT “A”

Teh HEAT & 80%, 80 & ATY S W JET T&AT IRONH a1 &, af &7 &/ 80%

of a number added to 80 gives the result as the number itself, then the number is:
a) 200 b) 300 c) 400 d) 480

T G T IMEIET 5000 &, Sfaay 2% #F gefy @ &1 2 @ & ang ey g

&/ The population of a village is 5000 and it increases at the rate of 2% every year. After 2 years,

the population will be:
a) 5116 b) 5202 c) 5200 d) 5204

U T&HH HTURUT &1 &3 9 5 AT & a1 $.9800 gar ¢ 3R 8 IO & a1

$.12005 gIdr § dr arf¥er sATT T &7 81T &/A sum of money amounts to Rs.9800/- after

5 years Rs.12005/- after 8 years at the same rate of simple interest. The rate of interest per annum is:
a) 5% b) 8% c) 12% d) 15%

Setail1, 2007 WIFAR o1, FFadr 1, 2008 Toag & wia-ar R gar &danuary 1,
2007 was Monday. What day of the week lies on January 1, 2008?

a) HIHAGR/ Monday b) HITGTAR/Tuesday
¢) LR/ Wednesday d) Yfdar/Sunday

EEEEEC T LU gred /A hexagon has number of sides:
a) 4 b) 6 c) 8 d) 9

e & & Fla-a1 ggF F«w F7E &/Which among the following is not a prime number:
a) 7 b) 13 0) 27 d) 37

U AU TIST B/A right angled triangle is one with
a) TRET 2 91ed M9 FH THGT 8/ Any 2 sides parallel to each other
b) Ty 2 ared Mo F 60° SATAT &/ Any 2 sides make an angle of 60° with each other
c) ey 2 ared 3maw & fAGTaT &/Any 2 sides are perpendicular to each other

d) 3uded H FIg ALH/None of the above
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10.

11

12.

13.

14.

18.

16.

17.

100, 150, 450, 1050

100, 150, 450, 1050,
a) 2100

----------- HGAT T 3Tl TEAT 8/ The next number in the series

is:
b) 1950

¢) 2250

32 frg T&AT HT 40% /32 is 40% of what number?

a) 128

b) 128

¢) 80

d) 2300

d) 800

23 31X 137 & &g rael Fgsr g&ar 7 ¥ faenfara Far S @ehar g/How many

natural numbers between 23 and 137 are divisible by 7 ?

a) 12

b) 17

c)16

d) 13

TH I3 10 Il & T 8% HRUT &4rr # %.10000/- f@afa &ar g1 10

TSl 16 3e1eh! Tod fhU STearell el TRA/A person invests Rs.10000/- at a simple interest

of 8% for 10 years. What will be the total sum available for him after 10 years?
d) Rs.18000/-

a) Rs.20000/-

b) Rs.16000/-

¢) Rs.21000/-

faeT 7 & FgATH §/Which of the following is the least?

a) 0.105

U oed & fpaar f&e §/How many minutes are there in a Day?

a) 1460

210 @1 10% AT g/Whatis 10% of 210?

a) 20

b) 0.501

b) 1450

b) 21

¢) 0.015

c) 1440

c) 22

d) 0.15

d) 1430

d) 23

ARG x+2=4Td x-2=6 § A x H HeT FAT &/ Ifx+2=4and x-2=6 then what s the

value of x ?
a) 7

T TIRIT H FUT HT JET §/What is the sum of angles in a triangle?

a) 900

b) 1200

c) 3

c) 4

c) 1800

d) 1

d) 5

d) 3600
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18.

19.

20.

21.

22.

23.

24.

25.

1,4,9,------,25,36 @ 98 H Hi-dr F&IT 31T 8/1, 4,9, , 25, 36 what

comes in the place of blank?
a) 12 b) 14 c) 16 d) 18

T HR 3 "el # 150 frelr g amm wdr §, SR FHT AT AT §/A car travels a

distance of 150 Kms in 3 hours. Then what is the speed of the car?
a) 45Km/hr b) 50 Km/hr c) 55 Km/hr d) 60 Km/hr

ar drefy @3t & i FT HIOT FAT &/What is the angle between two straight lines?
a) 300 b) 450 &) 00 d) 1800

T AT & £.1,00,000/- W TH HR @eT AR £.73,000/- T o f&2Ar| A
HTST FIT &/A man purchased a car for Rs.1,00,000/- and sold it for Rs.73,000/-. What is the loss he

incurred?
a) Rs.21,000/- b) Rs.22,000/- ¢) Rs.23,000/- d) Rs.27,000/-

IfE (x+2) (x-2) =12 § AV x=2/f (x+2) (x-2) = 12 then x = ?
a) 4 b) 5 c) 6 d) 7

Ife 12 ¥ 36 FIUC H 997 A TH A H Hed &A1 g/If 12 apples are sold for 36

rupees then what is the value of a single apple?
a) Rs.2/- b) Rs.3/- c) Rs.4/- d) Rs.5/-

TS Far A G e S g AR D v a3 S g1 et
T i 31T ST /A s taller than B. Biis taller than C and D is taller than A. Then who is the

tallest among all?
a) A b) B c) C d D

0.22,0.222, 12.022 T JNTHT FAT g/What is the sum of 0.22, 0.222, 12.022
a) 12246 b) 12.224 c) 12.046 d) 12.446
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et TEAT 26 ¥ 30 9% 39gFd 3996 ¥ I HI I 3qug A HNaRIHAT gl § A
e A & TIsT FL1 Fill in the blanks with a suitable article from Question Nos.26-30. If no

article is required select option ‘d’

26. Thereis university

a) a b) an c) the d) No article
27. Heis honest person

a) a b) an c) the d) No article
28. Itravelled in aeroplane

a) a b) an c) the d) No article
29. Thisis book, | was searching for

a) a b) an c) the d) No article
30. umbrella is useful in the rainy season.

a) a b) an c) the d) No article

gesT TEAT 31 T 35 I TEY ade Uqsg F AL |
Choose the correct spelt word from Question No.31 to 35

31. a) Independance b) Indipendence ¢) Independence
32. a) Attendence b) Atendance c) Atendence
33. a) Government b) Govornament c) Govarnament
34. a) Adulterate b) Adeldurate c) Adulterat

35. a) Associasion b) Asossiation c) Association

oeT TEAT 36 ¥ 40 e 3UGFT qEE F T A
Fill in the blanks with suitable prepositions from Question No.36 to 40

36. He has been working 10 hours.
a) Since b) from c) for d) by

d) Indipendance
d) Attendance
d) Govarnment

d) Adultarate

d) Asossiasion
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37. These books are not intended A you

a) for b) to c) at d) None
38. The meeting starts 11 O’ Clock
a) on b) at c) in d) with

39. The bridge is construction

a) on b) under c) in d) above
40. Kids are playing the floor
a) across b) in c) by d) on

9T HEIT 41 W 450 3Ugad hamdg § QT Y|
Fill in the blanks with suitable verbs from Question No.41 to 45

41. He to school every day
a) go b) goes c) went d) has gone

42. Of late he the habit of postponing things.

a) has developed(b) developed ¢) had developed d) is developing
43. His means --------------- ample.

a)is b) am c) are d) have
44. He appeared to be ---------=----- about his examination.

a) worry b) worried c) worrying  d) has worried
45. Many people ---------------- to the function yesterday.

a) come b) comes c) came d) coming

YT HEAT 46 § 50 3Ugad A A [T Y|
Fill in the blanks with suitable words from Question Nos.46 to 50

46. His face pale white

a) turned b) colour c) became d) change
47. ltis not matter to decide what is right and what is wrong.
a) adifficult b) an easy c) a great d) an important
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48.

49.

50.

91.

52.

53.

54.

95.

The year 1763 is memorable to me -------------=------ | had the pleasure of meeting Johnson that year
a) and b) but c) because  d) so

He took care of her she was restored to health.
a) when b) after c) before d) till

It was difficult to select a winner from so many contestants.
a) Between b) among c) of d) in

SO FEl ¥ 3UIE THIRT AT 8/ISRO launches satellites from?
a) foreaecIq¥#/ Thiruvananthapuram b) &exTaTG/Hyderabad
c) #MgRepIcer/Sriharikota d) 81/ Hassan

T q NG FAH N IcASBAT F1 M¥F FAT 82
What is the title of APJ Abdul Kalam’s autobiography?
a) Sdeics ATS3/Ignited Minds b) &7T 3HTH HII/Wings of Fire

c) @S Ha/Missile Man d) #F Y f&aer=/Man with vision

e # @ g 3maa A 3% f3ar ofie Far 2
Who among the following got the title of “The Iron Man of India"?
a) FTcAT amefl/Mahatma Gandhi

)
) ETGTHTS AaxIsi1/Dadabhai Nauroji
)
)

(=

¢) TER Icol/Sardar Patel

d) AT 37egel ShellH 3TTeTe/Maulana Abdul Kalam Azad

o & ¥ &l aRa #1 gfage el AL &
Which among the following is not a Union Territory of India?

a) gguRI/Puducherry b) ST&Teard/ Lakshadweep
c¢) 3INaT/Goa d) T319Tg/Chandigarh

aAvsa & T8t fr T/ Total number of planets in the Solar System?
a) 8 b) 7 g 10 d) 9
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56.

67,

58.

59.

60.

61

62

AT & @ Pla-a1 dfger & 39T BFFAT ST &/Which of the following is used in
Pencils?

a) ATHIST/Graphite b) T&feraat/Silicon
c) TReIet/Charcoal d) BRIHIE/Phosphorous

3aRker # Femat 3R T F 3= g9 & v IgAfEg 3o

For better vision of stars and planets in space, the instrument used is

a) IfeIsIEhIa/Kaleidoscope b) IREHIa/Periscope
c) TAFCIERIT/Spectroscope d) cforEspra/Telescope

q¥dl # 39eeY HOR 9T/ The hardest substance available on earth is
a) Ir1/Gold b) gT/Iron ¢) €R1/Diamond d) cofeaa /Platinum

1983 & gsfoRrael de8 &9 # i ¥R fhehe & &1 FeareT sl ar/
Who was the captain of the Indian Cricket team that won the Prudential World Cup in 1983?
a) TH Tg i)/ MS Dhoni b) S &a/ Kapil Dev

¢) gﬁ-’!ﬁ IATERT/Sunil Gavaskar d) AGFAC 3rETEEIAMohammad Azharuddin

08.11.2016 THE & ﬁﬂaﬁaﬁ AT/ The currencies demonetized w.e.f. 08.11.2016 are ?
a) 5&100 b) 20 & 100 c) 100 & 500 d) 500 & 1000

GRea 3eaee & fav FRisE e fra ardr@ &1 A Sirar &

The International Day for the Eradication of Poverty is observed on which date?

a) 3feFcsIX/October 15 b) 37eFc{si¥/October 18
¢) 37eFc(siT/October 19 d) 3feFc{siT/October 17

afedfersT gared AT F 3YMNAT F/Penicillin is widely used as

a) 3MecrATcea/an antiseptic b) 3T8=hereec/a disinfectant
¢) HT=cIgaTiean/an antibiotic d) saAfFecaETSS/an insecticide
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63

64

65.

66.

67

68

. BT grer H 3iafdse &/Soda water contains \
a) @REIfee 31Fel/Carbonic acid b) HeTFIRe 37Fc1/Sulphuric acid X
c) FIeeT 318 HTFATSS/Carbon dioxide d) A8 37%f /Nitrous acid

. IIATT AHTAT 37ETeT HiT §/Who is the present Loksabha Speaker
a) HRT HAR/ Meira Kumar

TH dfegy/M Thambidurai

gHIe 3=agr/Hamid Ansari

gﬁﬁn HETST=1/Sumitra Mahajan

)
)

(=

C

)
d)

HRT & 33T 9T HI-HT §/Which is the highest peak in India?
a) UaITc/Everest
b) @haTeTaidN/Kanchanjanga
c) #er &dl/Nanda Devi
d) AT ArE/Kamet Peak
S8 FT e T O gfEAfara §/Durand Cup is associated with the game of
a) fa&c/Cricket  b) Pealei/Football  c) Blehl/Hockey d) areirarer/Volleyball
. gfaay InnfesT e AATT SATAT §/When is Yoga Day celebrated annually?

a) #HS/May 30
b) SfeT/June 21

C

)
)
) 3T9TEd/August 14
)

d W@T/October 22

. afe dgerat e Wel & |FATAT &/Sachin Tendulkar is associated with which sports?
a) feehe/ Cricket b) Sw=ird/Tennis  c) STcfA«Cca/Badminton d) TH/Chess
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69.

70.

1.

72.

73,

74.

75.

faeg #ISte f&aa/World Food Day

a) Siea</January 16 b) FcER/September 6
¢) 37eFca/October 6 d) saeI/November 16

FaHATH AT FArAIeafd slsT §/Who is the current Chief Justice of India
a) & ST STTHSUTE/KG Balakrishnan b) % TH TUTFHSUT/KS Radhakrishnan
¢) TH U &o/HL Dattu d) ST TH WeI/J S Khehar

A F1e 7 3fafdse £/A menu card contains
a) HISIeT T ATH/Name of Dishes b) FrFd/Price
¢) 39TeT/Ingredients d) Y=AT/Al the three

FIA-AT TE ST TE & SATAT SATAT &/ Which planet is known as red planet
a) Ysh/Venus b) erfa/Saturn c) HaTel/Mars d) ¥/ Jupiter

fora Al & g 310 T Hr 3maegerar 2/In which season do we need more fat?
a) avFrer/ Rainy season b) g&deTel/Spring
c) 2ATRIeT Winter d) IrsHSTA/Summer

T TR Fd AT sl &l g1 §/How many teeth does a normal adult dog have?
a) 32 b) 34 ¢) 38 d) 42

HRA T UGl HAHA 3YAF HiI-AT g/Which is India’s first artificial satellite?
a) $TEHT/Bhaskara b) STHC/INSAT
c) 3TI%cel/ Aryabhata d) Tfgofi/Rohini

e e o ke e de e ok ok ok
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